S6 hoc cua s6 mil (SO mii &m)

Ten Ngiything: ___ Piém:___
oD —(-10) = (—8) D +1=
70 +7= 100D —3=
(-9)* +8= (=3)D =10 =
(—10)* + (—4) = 52+ (-9) =
(7" 2= 4-(-6) =
(=6)" = (-6) = (D) +(3)=
(-10)72 +9 = (4 -7=
9V +9= ()= (-10) =
(—9)? +3 = 8% +(—6) =
7D = (—6)(2) +§ =
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Tén:__ Ngaythang:__ Diém:____
oD —(~10) = % = 10% -8) D +1= %
7= 1070 -3 = (-2) = (-27)
(9 +8= 9 CH=10= (-3 = (-105)
(—10)* + (—4) = 96 52 +(-9)=16
(DP-2=(3)= 1) 4-(6)=10
6= (6= 2 =5 D+ = (4
(-10)2 +9 = % = 9%0 (- -7= (—% = (—7%)
(-9 +9= 8—90 = 8-2— (-1) = (~10) =9
(9= 5 &+ (-6) = 58
7D —2= (—g) — (—12) (—6)? + 8 = % — 8%
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